—
“Z N sensor

R

PRI 8 R AT %k
EEES A=)y
i S M

HMEE R R )5 R AR 4

e IE S AT %

mtERE. RFEA. SrEEE
18 A~ H i R 1

RigRiTIk
R RS
JE IR A 2%
1174 B2 25 A HVAC F25
T RG]
A
HEWIEST A
FL A AT i
KL BT R4S
R

A=

1 U1 AR RE A B 2 S B0
5 R 48R o

2 BTV A 20 B 7 A A
RETIEIR - P N b PSR S

3 PRI kL, RS
B AR R LA I £ b

4 BRI, =SB0k AL i
Fo

PC11 [£ 1115 R4=5

.
4 N\ B
v

l:IJI

: s
= itk

PC11 JEJJMRIREENH PC10 Bk Jy i 25 7 7 A hn B2 1
WBL T AR, 300 FUEIT “300 #2088 #Ek” w3EAE 2088 A
WESEA b, 400 RUTT B35 4E 2088 ArdEseik b, 5@ KH
. Zrem N AAm. T, BE. iE. iR, . BB
JTRE R BIAHL. FRAEHLEEAT b iy FE 2 i) J &

F B
(1) 44:3|8

+IN

+0UT -OUT

A=

1 STHEANER

2 KR E RIS E, AT RS E 97 i 2 46 =
3 FE UL A IR TR B 2 R E LS BORL

4 BRI, 2 SBUSKRAA D% .

1 www.wt-tech.com



\|//

L,
=

W,

R/

\|
WNTsensor

S AR BEFR AR

Y -100kPa~0~10kPa---100MPa
ESVAE S KL 45, BHIE
B PEESE 1. 5mA; [HEHERE 10V
, fE: 2kQ ~5kQ
NS fEE: 3kQ ~18kQ
A e 357
" {H¥L: <70kPa 0C~60C; HAEM-10C~70C
HME IR _ . .
fEf: —20°C~85C
TARREE -40°C~120°C
fif A7 -40°C~125C
“i 2 HifH =200M Q /250VDC
Wi [ s} ] <Ims (_LF+E] 90%FS)
WA ot JIT A 5 304 HeZs B AT
kRSN 20g (20~5000HZ)
i o 100g (10ms)
1§ FH iy 10X 10°(cycles)
JE Fr 7 o 316L
e R 304
FEE AR =R
% H HE TREGRIE IR
i H 1 B/ L%} BA B | B
etk -0.3 +0.2 0.3 %FS VEQD)
R ¥ -0. 05 +0.03 0.05 %FS
HEM -0. 05 +0.03 0.05 %ES
T -2 +1 2 mV
1.5mA , 10kPa 30
" 1. 5mA, HApEE 60 90 150
Lt L 10V, 10kPa 60 v
10V, HiREfk 98 100 102
- +
R ﬁgi%%% —1.25 J_r_ol..755 1.25 AIS e
RBERE -1.5 +0.75 1.5 %FS FE@
IR -0.075 | £0.05 | 0.075 %ES EG)
KT E 1 -0.3 +0. 2 0.3 %FS/4E
T

(1) HR¥E BFSL #/ 3Rk 5.
(2) TEAMEEETEEIA, 0°C~60. —10°C~70C&% 30°C; —20°C~85C%% 32.5C.
Q) A ERE)E, RBSHEEE,

2 www.wt-tech.com



\"",‘
“MNTsensor

W

AN R~}
B (mm)
300 &Y 400 B
3940.5 IS :
1 HEX30-02
B ! 2 10
S 25 N
(T
= — ! < —=
2=l |[[Es —— 55 == 7 g5 —— X«
== s~ : = S= Y £= ———
% = ———
/
AT 18 TR 4L
FAL (mm)
300 & (R M25X 1) 400 B! (JFHRL M27 X 2)

El#R: M20X1.5, MI0X1, M10X1.5,
MI2X1, M12X1.5, M14X1.5,
M16X1.5, M18X1.5, M20X 1.5 A,
M22X 1.5, M27X2;

E#R: M14X1.5,M16X1.5,M18X1.5,M20X 1. 5;

E4sh: G1/2. G1/4, G1/4 A, NPT1/2, NPT1/4

E4sh: G1. G1/2, G1/4, G1/4 A, G1/8, G3/4 R1/4

G3/8. NPT1/2. NPT1/4. NPT1/8. R1/2
R1/4. R3/8. 7/16-20UNF;

BAGEE AL (o)

39+0.5
5 14 FEBUE HUE X
25 //EER) AR HINIE
‘| \ 5, LNl
"
alir = et futh I
R g = 7 = A Lingaugoil
R
_/

3 www.wt-tech.com



g;.lamrsensor
BREAD EARE | ERGEHE TEEE S R E S (\Ficl:
10k G 0~10kPa 300%FS 600%FS TH
20k G 0~20kPa 300%FS 600%FS TH
35k G. A 0~35kPa 300%FS 600%FS TR
70k G 0~70kPa 300%FS 600%FS T
100k G. A 0~100kPa 200%FS 500%FS TR
160k G. A 0~160kPa 200%FS 500%FS TH
250k G. A 0~250kPa 200%FS 500%FS TH
400k G. A 0~400kPa 200%FS 500%FS TH
600k G. A 0~600kPa 200%FS 500%FS TR
M G. A 0~ 1MPa 200%FS 500%FS T
1. 6M G. A. S 0~1. 6MPa 200%FS 500%FS TH
2.5\ G. Av S 0~2. 5MPa 200%FS 500%FS TH
4M S 0~4MPa 200%FS 400%FS TH
6M S 0~6MPa 200%FS 400%FS AR
10M S 0~10MPa 200%FS 400%FS AR
16M S 0~16MPa 200%FS 400%FS AR
25M S 0~25MPa 150%FS 400%FS AR
40M S 0~40MPa 150%FS 300%FS AR
60M S 0~60MPa 150%FS 300%FS v i
100M S 0~100MPa 150%FS 300%FS AR
(-100~0)k | &1 -100~0kPa 300kPa 600kPa TH
(0~-1000k | 4% 0~-100kPa 300kPa 600kPa T4
NP100k B +100kPa 300kPa 600kPa T4
(-100~160)k | %W -100~160kPa 480kPa 900kPa TH
(-100~250)k | &0 -100~250kPa 750kPa 1. 25MPa TE
(-100~400)k | 5% ~100~400kPa 800kPa 2MPa T
(-100~600)k | 1% -100~600kPa 1. 2MPa 3MPa TH
(-0.1~1.0)M | 40 -0. 1~1MPa 2MPa 5MPa Ta
(-0.1~1.6)M | HE& -0. 1~1. 6MPa 3MPa 9MPa T&
(-0.1~2.5)M | W -0. 1~2. 5MPa 5MPa 12. 5MPa THE
e 6 EIE. A 45, S HHIE

www.wt-tech.com



PC11 - 10k G 4w 11 Cl H1
RS HI =M25X1
H2 = M27 X2
EARER
Bz CRE0E P
G= F£Hk
A= %E 11 =1.5mA
S= HHE 4w =42 ut=10v

2446 ;. PC11-1MPaG4wI1C1H1

PC11 JEJIfEIEHS, &FE IMPa, FJE, 4 £851H, 1. 5mA ¥, B OMELM20X 1.5, JFHE M25X 1.,

TR R

1 FTULE AR B PE E AR, 8 B H4 ) 7E £ 30%FS LAPY .

2 ARG ERE. 45, BHIE,

() RS ET KSR o, —RIER T 4T KRR E: R &R IERR RSO, 7 TAE
PIAHE T AR KRR L.

(2) a2 DL 2 U

(3) HHFEALE MRIEH, HAEMENEFIISSE; 6MPa UL IR ERE, REEHIE.,

3 ARG R E, R H KIS RN T 15 B3 I AR PR, 75 U2 52 7= i (R 3 FH 25
ESEiE7 Vo
4 7= R AN T oA 1. bmA TR RMEE, B ek .
5 filli& R SRR B, T2HIERAHAE, 48R O 7 RS
6 F X I RE S HI T RE B RRRER, Wl 5 A A TR .

BKAIEMN

. 400-8508-330

v Pk www.wi-tech.com

FAA L) m R TR R X S % 5 5

LT Bl T o X RIS PR 262 5 4 Sk

WA s B R THVL T XL B A lb s 5 el B2 4% 13 %82

HEHER KIERR

WRAS: v1.0 5 www.wt-tech.com


http://www.wt-tech.com
http://www.wtsensor.com/

